
b(E)× 106 [cm2g−1] for
antimony (Sb), Z = 51, A =121.760(1)

E [GeV] bbrems bpair bnucl btot

2. 1.3539 0.5349 0.3821 2.2708
5. 1.8659 1.5526 0.4081 3.8266

10. 2.2825 2.3417 0.3999 5.0240
20. 2.7099 3.1053 0.3799 6.1952
50. 3.2712 4.2457 0.3688 7.8857

100. 3.6722 5.0073 0.3610 9.0405
200. 4.0405 5.6894 0.3573 10.0872
500. 4.4578 6.3215 0.3573 11.1366

1000. 4.7117 6.6595 0.3629 11.7342
2000. 4.9112 6.9050 0.3718 12.1880
5000. 5.0984 7.1112 0.3881 12.5976

10000. 5.1920 7.2070 0.4043 12.8033
20000. 5.2545 7.2694 0.4232 12.9471
50000. 5.3065 7.3164 0.4525 13.0755

100000. 5.3300 7.3362 0.4776 13.1437


